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VECTOR IDENTITIES

ONA-(BxC)=C-(AxB)=B:(CxA)=-A-(CxB)=-B:-(AxC)=-C-(BxA)
/) (axB)- (AxB) = (JA]B])* - (A - B
) Ax(BxC)=B(A-C)-C(A-B) (BAC-CAB formula)
J)(AxB)xC=B(A-C)—AB-C) (variant)
55Ax(BxC)+Bx(CxA)+Cx(AxB)=10 (Jacobi's Identity)
6) V(ag + By) = aVd + fVy  (linearity)
7)V+(aA+pB)=aV-A+pV-B (linearity)
)V x(aA+BB) =aVx A+ pVxB (linearity)
9) V(gy) = ¢Vy +wV¢p  (product rule for gradients)
10) V(A - B) = (A -V)B+ (B-V)A + A x (VxB) + Bx (VxA) !
1) V(pA) =gV -A+Vgp-A
*12)V-(AxB)=B+«(VxA)—A«(VxB)
13) VX(gA) = gV x A+ Vo x A
“44) Vx(AxB) = (B-V)A—(A-V)B+A(V-B)-B(V-A)
15)V-(VxA)=0 (curls have no divergence)
16) Vx(Vp) = 0  (gradients have no curl)
1YV x(VxA)=V(V-A) —@ definition of vector laplacian »
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